—— A
N = 0] &F AF S & AN A
20218 &= 20l AF LBHSH & Al
2A: 2222
N ZROACR I HE
chelr ZZOARIIG £4 (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
2229023} 84,264,793 69,412,580 14,852,213
= 26,015,841
g 4,121,000
Jl 14,646,377
= 18,734,575
TH 20,747,000
2282492 J|gt &= 56,870,640 46,214,600 10,656,040
= 22,831,200
Dl 3,400,000
= 9,892,440
TH 20,747,000
22o 27|t &x4A 8,256,900 7,620,400 636,500
= 1,350,200
J| 3,400,000
o 2,366,700
TH 1,140,000
SSEAHOSI |2 BBEAHYZAME K& 60,000 60,000 0
308 AMXISHMSOIA 60,000 60,000 0
11 2| 2S0UsHEAXAEAS ] 60,000 60,000 0
O=ZSUHEE QLEIJASI 22HMAH 2= 60,000
o=z =X SEXNSHMAH 25 87,500 125,000 A 37,500
308 XHXIEHSOIA 87,500 125,000 A 37,500
01 AIXSHMENMNEX= 87,500 125,000 A 37,500
oOBAHo==EX SEXNEMH 25 87,500
229 =02 A o U= 9,000 15,000 A 6,000
201 LBt | 9,000 15,000 A 6,000
01 AP 22| H| 9,000 15,000 A 6,000
o229 =) M U4y = 9,000
222HoS X 2E 29 300,000 300,000 0
307 QI2t0| & 300,000 300,000 0
05 QIZtRES 300,000 300,000 0
O2Z2BHozXNdHd 29 300,000
NENEERA 224 (B2 EHY=2 X2 294 300,000 300,000 0]
(=D)
= 150,000
& 150,000
307 giztol A 300,000 300,000 0
= 150,000
& 150,000
05 QIZ2tRE S 300,000 300,000 0
O22BHoz XIS 29 300,000
= 150,000
= 150,000




2A: 2222
M ZZBAR JlY HE
R 229 =08t X4 (e H)
- RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
2ZTEAHESIHE 2H(=21D) 20,400 20,400 0
= 10,200
& 10,200
301 et A= 20,400 20,400 0
= 10,200
= 10,200
02 Zet=2dex=2 20,400 20,400 0
OZ2ZEHESHE 2 20,400
= 10,200
=} 10,200
22020 MHESSHE HE(21D) 5,100,000 6,800,000 A 1,700,000
J| 3,400,000
< 560,000
TH 1,140,000
403 XX SHHS K20 & 5,100,000 0 5,100,000
p] 3,400,000
& 560,000
TH 1,140,000
01 XIS A=2E X 5,100,000 0 5,100,000
OJFTZLIAH SSHEOI M= Z HE 5,100,000
J| 3,400,000
= 560,000
H 1,140,000
HAE 22EAHo 2 HEAHYH R=E(=21) 525,000 0 525,000
= 262,500
o 262,500
307 2I2t0| ™ 525,000 0 525,000
= 262,500
& 262,500
02 IZHBAAIE E X 525,000 0 525,000
OdFE BEEAHYE 14 2= 525,000
= 262,500
= 262,500
HAE ZBLEAHE A 2E(HE)(=21) 5,000 0 5,000
2 2,500
= 2,500
402 SI2F X201 M 5,000 0 5,000
= 2,500
= 2,500
02 CIZEXIE AL EX (0| XM THL) 5,000 0 5,000
O222HYs XN Js2d XA 5,000
= 2,500
o= 2,500
NHZZLEACR SAMAH PEAL(2D) 1,825,000 0 1,825,000
= 912,500
& 912,500




2N SZ222A2H
M ZZBAR JlY HE
& S3AZ0NE =4 (=& J)
= d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
307 glz2tol & 1,825,000 0 1,825,000
= 912,500
< 912,500
02 PIZHEHAHE L 1,825,000 0 1,825,000
OXNGZIEHAZ EHNAH 2SAY 1,825,000
= 912,500
< 912,500
ANEzsE22s 88HA 2SAE(H2)(21) 25,000 0 25,000
= 12,500
< 12,500
402 RIZEX201 ™ 25,000 0 25,000
= 12,500
< 12,500
02 U2 THEALEZ(0IETHR) 25,000 0 25,000
oXNdgEss=2222 g8NMH 2= 25,000
= 12,500
< 12,500
3=/ 2 48,613,740 38,594,200 10,019,540
= 21,481,000
< 7,525,740
T 19,607,000
ANgogd ML =8 4,131,940 2,159,800 1,972,140
201 Let24d] 26,100 29,000 A 2,900
01 At 2teltl 26,100 29,000 22,900
Oz dIFYME a2 ns s 29 26,100
202 O4dl 10,800 12,000 A 1,200
01 = LH 4 Hi 10,800 12,000 A1,200
ONYIZTH YN =X 10,800
306 =3 4,000,000 2,000,000 2,000,000
01 &3 4,000,000 2,000,000 2,000,000
OXNYIMLII=EX &&= S 4,000,000
307 21201 A 95,040 118,800 A 23,760
02 IZtE S AIHE L 95,040 118,800 A 23,760
OFU2UAS A 2853 X 95,040
SEHOYZ R O|MA=E A Y 1,246,000 229,400 1,016,600
401 A& HIZ 201 I 1,246,000 229,400 1,016,600
01 A& HI 1,246,000 229,400 1,016,600
O&HoZ R OlMAS At 1,246,000
Exozgd A0 M2J|s B 80,000 80,000 0
308 XXM SOl A 80,000 80,000 0
01 IXNHHBAMNEES 80,000 80,000 0




2N
X ZH -
L= B

el

0K 0K OH
0K OF 0K
o1 1o

2
oz Jlegt 25
o2 24N

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ox=x=2ogd A0t MSJs B 80,000
ANgo2d Jis22Ag(=21) 42,162,000 33,380,000 8,782,000
= 21,081,000
< 1,474,000
T 19,607,000
402 RIZ2EX201 ™ 42,162,000 33,380,000 8,782,000
= 21,081,000
< 1,474,000
H 19,607,000
02 RIZEXt2 AL EZ (OIS ) 42,162,000 33,380,000 8,782,000
oxNgozd JIsEH 38,962,000
= 19,481,000
< 1,474,000
T 18,007,000
ORFUARE ESE= MY 3,200,000
= 1,600,000
TH 1,600,000
ANgozd HRAMBALAE MAIIs e L DEJ 200,000 190,000 10,000
(=2)
= 100,000
< 100,000
402 RI2EXt20| ™ 200,000 190,000 10,000
= 100,000
< 100,000
02 QI 2 A EZ(OI X TH ) 200,000 0 200,000
OXNYAZH HAZEANAE IA=FAY 200,000
= 100,000
< 100,000
ANgog@d oA ozl oyl X (=21) 600,000 2,200,000 A 1,600,000
= 300,000
< 300,000
307 glz2tol & 600,000 2,200,000 A 1,600,000
= 300,000
< 300,000
02 It MAMHEE 600,000 2,200,000 A 1,600,000
oXgoza mtA ozolgy oAl X3 600,000
= 300,000
< 300,000
2SS SYHeldy 2N 142,800 204,000 261,200
307 21201 A 142,800 204,000 261,200
02 QB AAFEX 142,800 204,000 261,200
OLEAzd sLACIEY 2AXE 142,800
S84 FSHAH 2= A4 s N& 21,000 21,000 0
308 MtXIEHMSOIH 21,000 21,000 0
01 HXNHHNBHEES 21,000 21,000 0




2N SZ222A2H
N ZROACR I HE
Sl BBARIIT SYX CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
oSS =sMA 7= 2AH S XN 21,000
23 28 NJA A 30,000 30,000 0
308 XXM SOl A 30,000 30,000 0
01 IXNHHBNEES 30,000 30,000 0
Oodz= & =28 XA 30,000
SIEHAXN H FHANS Az MY 2ot 13,077,491 11,458,964 1,618,527
= 2,084,241
J| 7,274,402
= 3,718,848
o HAX X 8,215,642 7,485,156 730,486
= 2,054,241
J| 4,091,598
< 2,069,803
FZoHF X XAt (1) (=12) 1,800,000 1,800,000 0
= 1,200,000
< 600,000
308 XXIEHHSOIA 1,800,000 1,800,000 0
= 1,200,000
< 600,000
01 AXHHILEES 1,800,000 1,800,000 0
O=HHAX XNJAAS 212AH| 1,800,000
= 1,200,000
< 600,000
S F AKX XA (A0HAHD TAH) (=1 375,000 375,000 0
= 250,000
< 125,000
308 AHAIEHHSOIA 375,000 375,000 0
= 250,000
< 125,000
01 HIXNHHNBHEELES 375,000 375,000 0
OoZHAX XA l24b| 375,000
= 250,000
< 125,000
OHMEH Sk olZet A= 50,000 50,000 0
308 XXM SO0 A 50,000 50,000 0
01 HIXNHHBNEES 50,000 50,000 0
ONFE YMT A4S B X 50,000
o2 HAKX ozt X 200,000 200,000 0
308 XtXIEHH SO0l A 200,000 200,000 0
01 AXHHILEES 200,000 200,000 0
osais 24 N& 200,000
FAXNS S3A=2dEH XA (22) 378,875 467,500 A 88,625
J| 378,875




2N
X ZH -
L= B

el

SH-HH . B(SH) - HBAMY - B2 o A o SSa HDE2
307 QI2t0| & 378,875 467,500 N\ 88,625
Dl 378,875
02 At MAIEE X 378,875 467,500 N\ 88,625
OFUX S22z 4EH HXH 378,875
Dl 378,875
FofXl A YERT FH(=1) 91,310 91,310 0
Dl 91,310
307 QI2t0| & 91,310 91,310 0
Jl 91,310
02 DI2ZtF AAEE X 91,310 91,310 0
OFAX FARAEX WEYD 75 91,310
J| 91,310
FoXY 239202 N (=21D) 2,733,744 2,733,744 0
J| 2,733,744
308 XX S M SO0l & 2,733,744 2,733,744 0
Dl 2,733,744
01 AIXHMBAEXZ 2,733,744 2,733,744 0
OF2LX sz 2F X 2,733,744
Dl 2,733,744
2292 DEFHAXNYE N (22012 X)) (= 240,000 240,000 0
2)
Dl 240,000
308 XX SHHSOIA 240,000 240,000 0
Dl 240,000
01 AIXHMBAEXZ 240,000 240,000 0
ogAozZ I XA 240,000
Dl 240,000
23292 DEFHANNY N\ (2303 IA)(=21) 257,669 162,152 95,517
Dl 257,669
307 Q12t0| ™ 257,669 162,152 95,517
Il 257,669
02 AABAMANSEEX 257,669 162,152 95,517
Otz ol WA 257,669
Dl 257,669
A2 ICTEE X MA(XAHM XNK)(=21) 32,708 26,708 6,000
= 32,708
308 AXISHMSOIHA 32,708 26,708 6,000
= 32,708
01 HXHHNBMNEXTS 32,708 26,708 6,000
OXNXH™ K& 32,708
= 32,708
BAHOZI|2 ICT 22 88 M (ZFHEHS X 104,400 93,000 11,400
2)(=1)




2N
X ZH -
L= B

el

zzozy
2N L HOANUS ABUNY L3
o2 HK N

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 52,200
= 52,200
307 glz2tol & 104,400 93,000 11,400
= 52,200
= 52,200
02 It M AHE X 104,400 93,000 11,400
OZATHEHA KA 104,400
= 52,200
< 52,200
DIE M2 XEH AL (2D) 450,000 450,000 0
J| 300,000
< 150,000
308 XtXIEHH SOl A 450,000 450,000 0
J| 300,000
< 150,000
01 X HHILEES 450,000 450,000 0
O1NRY &2 X" N 450,000
J| 300,000
< 150,000
TURYYY BT2ANYNA(YRCYASQYY 90,000 90,000 0
2)(=3)
J| 45,000
< 45,000
307 21201 A 90,000 90,000 0
J| 45,000
< 45,000
02 QB AANHEX 90,000 90,000 0
OLJACEHILELLYEA 90,000
Jl 45,000
< 45,000
TURYYY BI2ANYN(ZHANCAHSES) 45,000 45,000 0
(21)
J| 45,000
308 XXM SOl A 45,000 45,000 0
J| 45,000
01 AXHHBILEES 45,000 45,000 0
OFE&HANLUNE=2ZHRA 45,000
J| 45,000
XSO BAYBME S (HEAY QI2H) (2D 182,596 140,754 41,842
)
= 152,163
< 30,433
308 XXM SO0l A 182,596 140,754 41,842
= 152,163
= 30,433
01 IXNHHBNEES 182,596 140,754 41,842




2N
X ZH -
L= B

el

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O2HA NSAMSATHEAY QI 24H| 182,596
= 152,163
< 30,433
ANAHMHIEHBHEH 2 (NS AEHAZ M 534,340 519,988 14,352
B 29)(=2)
=2 267,170
< 267,170
307 gl2tol & 534,340 519,988 14,352
= 267,170
< 267,170
02 IZtA M AIHE L 534,340 519,988 14,352
OXNGZEMHeIEAHAZHEH 29 534,340
= 267,170
< 267,170
S EFHAA ABMETA 2H(=21) 150,000 0 150,000
= 100,000
< 50,000
308 XXM SO A 150,000 0 150,000
= 100,000
< 50,000
01 AXHHBISEES 150,000 0 150,000
OYSHARX UBMTH QIHA2HH XA 150,000
= 100,000
< 50,000
XS AR 2HH XY 500,000 0 500,000
308 XtXIEHHSOIA 500,000 0 500,000
01 HXNHHNBHELS 500,000 0 500,000
O=x2z2d 2ol 294l XI& 500,000
EHAANES N2 4,861,849 3,973,808 888,041
= 30,000
J| 3,182,804
< 1,649,045
HE Xt olEHl ¥ Morrel XA (&I oz dl)( 1,765,200 900,972 864,228
=1)
J| 1,471,000
< 294,200
308 XXM SOIA 1,765,200 900,972 864,228
J| 1,471,000
< 294,200
01 AXHHIYEES 1,765,200 900,972 864,228
OYEX 2=l 1,765,200
Jl| 1,471,000
= 294,200
eIt olEHl ¥ MorrZel XA (Mor e 2el) 41,304 41,304 0
(21)
J| 41,304




2N
X ZH -
L= B
el

EIO|EE|>

oo =

2N L HOANUS ABUNY L3
EE B E I

o
SN SAGEA) - MRALY - BES 0l &k o4 e Hl D&
308 X EHSOIA 41,304 41,304 0
J| 41,304
01 HIXNHHBHEELS 41,304 41,304 0
OOt &xt 22l 41,304
J| 41,304
2ol NAM XN (LHET SSXNAME XA 200,000 200,000 0
)(=23)
J| 100,000
< 100,000
307 2I2H0I A 200,000 200,000 0
J| 100,000
< 100,000
02 It M AIHE L 200,000 200,000 0
OLHUEX SSXXNEEH X 200,000
J| 100,000
) 100,000
2ot XNAM X (LZ&H ) (=2) 1,761,600 1,447,972 313,628
J| 1,468,000
< 293,600
308 XXM SOl A 1,761,600 1,447,972 313,628
J| 1,468,000
< 293,600
01 IXNHHBNEES 1,761,600 1,447,972 313,628
A &dl XA 1,761,600
J| 1,468,000
< 293,600
2otz XNAM X2 (XNGgHy XJ)(=12) 205,000 202,000 3,000
J| 102,500
< 102,500
307 21201 A 205,000 202,000 3,000
J| 102,500
< 102,500
02 UAFAAFEX 205,000 202,000 3,000
OXNggdy XA 205,000
J| 102,500
=) 102,500
QIFQIERX S A= XNIAAMY(=1) 42,857 43,000 A 143
= 30,000
< 12,857
307 gl2tol & 42,857 43,000 A 143
= 30,000
< 12,857
01 2222l 42,857 43,000 A 143
oA=eZ22N S AS XN E AL 42,857
= 30,000
= 12,857




110|Eﬂ|»

oo =

THAK L FHANUS YSAHHY L3
JZHANS X &

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
MOt& H &k el =Hl XI& 280,000 400,000 A 120,000
308 XXX S0 A 280,000 400,000 A 120,000
01 AXSHBAELS 280,000 400,000 A 120,000
OMIIEH & oA=& 2=l 280,000
B3I gle g4 29 565,888 707,360 AN 141,472
308 AXIEHH S0 A 565,888 707,360 AN 141,472
01 AXNSHHBLEES 565,888 707,360 A141,472
25Xt gle 84 29 XN 565,888
=0 Y EAHA &5 5,198,481 4,371,872 826,609
| 2,988,522
< 2,209,959
=22z ol=Zet &5 4,844,600 4,043,400 801,200
| 2,781,500
< 2,063,100
SSASNAHMH 29I (=21) 195,200 195,400 A 200
| 97,600
< 97,600
307 glz2+ol & 195,200 195,400 A 200
| 97,600
< 97,600
02 RIZFEA MM E X 195,200 195,400 A 200
OS=dzXNJMEH 22 195,200
| 97,600
< 97,600
SS2AZ0ESHA XNE(21) 3,100,000 3,100,000 0
| 2,170,000
< 930,000
307 21201 A 3,100,000 3,100,000 0
| 2,170,000
< 930,000
02 UAFAAFEX 3,100,000 3,100,000 0
OJE S=29z dg8d)| 22 3,100,000
| 2,170,000
< 930,000
AHAM=E S SSHI WEHX(21) 90,000 90,000 0
| 45,000
S 45,000
307 glz2tol & 90,000 90,000 0
| 45,000
< 45,000
02 It HAMHEE 90,000 90,000 0
OtHAM= S S2HX WIKH XA 90,000
| 45,000
< 45,000




=]

=32=
Z=20 92 ML &S
2298 =t =35 (&)
SN BA(SA) - MRAY - BES il HImEET
S=2=8J/& o2 OE =2(=22 635,000 635,000 0
J| 444,500
< 190,500
307 gl2tol & 635,000 635,000 0
J| 444,500
< 190,500
02 It HAHE L 635,000 635,000 0
OHIFAX S=2A=I12 635,000
J| 444,500
< 190,500
AASHEEAI| B2 N (21 24,400 23,000 1,400
J| 24,400
403 X SHHE A0l & 24,400 23,000 1,400
J| 24,400
01 XM AZ2EE 24,400 23,000 1,400
OXssEEHI 258 X 24,400
J| 24,400
S22 d82EI| HSE 4AXA 800,000 0 800,000
401 AIEHI L 201 800,000 0 800,000
01 A& HI 772,698 0 772,698
o8=s9zg dgg8)| AE 772,698
02 Zteltl 24,902 0 24,902
o2=2z d2d)| AF 24,902
03 Al S HHI 2,400 0 2,400
o8=9zg dgg8)| AE 2,400
Hetels MAR= 353,881 328,472 25,409
J| 207,022
< 146,859
A el s X & 15,450 16,800 A 1,350
202 04l 7,650 9,000 A 1,350
01 = LH 4 HI 7,650 9,000 A 1,350
oONM:HES=a= AEFA 7,650
307 glz2+ol & 7,800 7,800 0
02 It MAMHEE 7,800 7,800 0
oMz NS 23 7,800
AEUSE 2| (=) 25,200 25,200 0
J| 25,200
308 XXM SOIA 25,200 25,200 0
J| 25,200
01 AXHHILEES 25,200 25,200 0
oOXY HHEZEs2A=zE 22X 25,200
J| 25,200




2N SZ222A2H
Hu: W0 ABAHIA HE
SR HUoAE MHPE EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HeHNEge 22 (22) 187,200 187,200 0
J| 93,600
< 93,600
307 gl2tol & 187,200 187,200 0
J| 93,600
< 93,600
02 It HAHE L 187,200 187,200 0
OAIE MHoAzsdgeH Xl 2E X2 187,200
J| 93,600
< 93,600
oz s 229 (=21) 126,031 99,272 26,759
J| 88,222
< 37,809
307 glz2+0l & 126,031 99,272 26,759
J| 88,222
< 37,809
02 HAHFHAANGEEE 126,031 99,272 26,759
O Ss28 RHdSAY 2EHI 126,031
J| 88,222
< 37,809
22 BA2A HAHlA M2 8,048,049 6,255,100 1,792,949
= 694,000
s 4,121,000
J| 983,453
< 2,249,596
SUEBAXNE 8,048,049 6,255,100 1,792,949
= 694,000
s 4,121,000
J| 983,453
= 2,249,596
Ot MR 2F 86,100 123,000 236,900
308 XtXIEHHSOIA 86,100 123,000 236,900
01 AXHHILEES 86,100 123,000 236,900
OSASH AR LR =3|AE 86,100
FOtJt= AHRolnr AXEH WX 435,000 0 435,000
402 2I2H X201 M 435,000 0 435,000
01 212t 2 AL E = (RERTH ) 435,000 0 435,000
OX0tot= Aol Z2&EH wiH 435,000
e AZ2e N3 660,000 825,000 A 165,000
308 XX EHSOIA 660,000 825,000 A 165,000
01 HIXNHHNBNEES 660,000 825,000 A 165,000
Ott= A2zl X 660,000
A2 Ao AZ2e 2oREas A 324,100 463,000 A 138,900




2N
X ZH -
L= B

el

S
e U8 MHA M3
=

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
308 X EHSOIA 324,100 463,000 A 138,900
01 HIXNHHBHNEELES 324,100 463,000 A 138,900
O&t2 sldot A2 2e 2Rga N2 324,100
AP AMO A2 22X (=2) 4,452,020 3,228,300 1,223,720
as 4,121,000
< 331,020
308 XXM SOIA 4,452,020 3,228,300 1,223,720
as 4,121,000
< 331,020
01 AXHHBISEES 4,452,020 3,228,300 1,223,720
oM Ao AZ2el X& 4,452,020
2 4,121,000
< 331,020
HAEE2 Al=Hl X (21) 677,344 549,840 127,504
J| 564,453
= 112,891
308 XtXIEHHSOIA 677,344 549,840 127,504
J| 564,453
= 112,891
01 HXNHHNBHELS 677,344 549,840 127,504
oHgeER X 677,344
J| 564,453
< 112,891
DNEAAY EXoley (2 D) 24,360 24,360 0
Jl| 20,300
= 4,060
308 XX EHSOIA 24,360 24,360 0
J| 20,300
< 4,060
01 HIXNHHNBNEELS 24,360 24,360 0
OZXNEAHAY B=xolaEy| 24,360
J| 20,300
< 4,060
HEQUBASH(=1) 6,240 6,240 0
J| 5,200
< 1,040
308 XXIEHHSOIA 6,240 6,240 0
J| 5,200
< 1,040
01 AXHHBILEES 6,240 6,240 0
ORZFELXNEAE MH 6,240
J| 5,200
= 1,040
HAEHMR olzH XN (=1) 18,000 14,400 3,600
J| 15,000




SN BBAED
HzM: A=2 DIE2AH AHlA A2
ol QTR AN (el @2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 3,000
308 XX G SO0l & 18,000 14,400 3,600
J| 15,000
= 3,000
01 AIKSHHENMNEXZ 18,000 14,400 3,600
OFAEAD o2 H|X& 18,000
J| 15,000
& 3,000
DNYASEAAREO2H| XR(=21D) 109,200 118,800 A9,600
J| 91,000
& 18,200
308 MXISHMSOIA 109,200 118,800 A9,600
J| 91,000
& 18,200
01 IXHHIMNEXTZ 109,200 118,800 A9,600
ONHEUMEOZHl K& 109,200
J| 91,000
o=t 18,200
Ol=0F & AEAH0IAO 92H| N (=21D) 210,000 140,400 69,600
J| 175,000
= 35,000
308 XAHXIEH SO A 210,000 140,400 69,600
J| 175,000
= 35,000
01 AIXSHMENMNEX= 210,000 140,400 69,600
O0|=0t & dEHLE0IM0F 9=H XS 210,000
J| 175,000
= 35,000
SHSUHAOIY 2A L Botel(22) 122,400 108,000 14,400
J| 102,000
= 20,400
308 XHXIGHH SO0l & 122,400 108,000 14,400
J| 102,000
= 20,400
01 AIXSHHENEXZ 122,400 108,000 14,400
OLELHAIOI A HAF & &0F2t2] 122,400
J| 102,000
= 20,400
HAAd GHZEAL E B X (=21D) 12,600 34,800 N 22,200
J| 10,500
=} 2,100
308 XX SHHSOIH 12,600 34,800 N 22,200
J| 10,500
= 2,100
01 X HHINMNEEXTZ 12,600 34,800 A 22,200




2N BBOIED
Rl =
IT

A Az ZANEH MElA W3
@ 2UEAXNE EEREEED)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OHEY HEIA L BEFHI| N2 12,600
J| 10,500
< 2,100
HASE JIMA ZMES NE(=21) 832,800 618,960 213,840
= 694,000
= 138,800
308 XXM SOIA 832,800 618,960 213,840
= 694,000
< 138,800
01 IXNHHBANEES 832,800 618,960 213,840
ONASE JIMAH &€ ZH2= A 832,800
= 694,000
< 138,800
A AHH XT3 41,885 0 41,885
308 MtXIEHSOIH 41,885 0 41,885
01 HXNHHBHELS 41,885 0 41,885
oA Al XA 41,885
st e XI& 36,000 0 36,000
308 AHAIEHHSOIA 36,000 0 36,000
01 HIXNHHBMNEELS 36,000 0 36,000
o8ty =y X& 36,000
=QUEH CdzHAH 25 634,200 667,000 A 32,800
= 406,400
< 227,800
oot A otd Zte| 634,200 667,000 A 32,800
= 406,400
< 227,800
oo A K& zel 11,700 13,000 A1,300
202 O4dl 11,700 13,000 A1,300
01 = LH o4 1 11,700 13,000 21,300
oA XN 2el 11,700
FsdAuE 22 2,100 3,000 A 900
206 M= Hl 2,100 3,000 A 900
01 MHZ 4l 2,100 3,000 A 900
Og%sE, &35 s ML 2,100
Ot F 0l 2tel 10,800 12,000 A 1,200
307 21201 A 10,800 12,000 A1,200
02 LAFAAFEX 10,800 12,000 A 1,200
OuYs ARSI HHol 10,800
SIETHR SXI 2 A S (BTLAIY ) 2UE XA(=21) 609,600 639,000 A 29,400
= 406,400




SN BBAED
M =S ASHAH 2=
chel: oloreia orE P CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
== 203,200
308 XX EHSOIA 609,600 639,000 A 29,400
= 406,400
< 203,200
01 IXNHHBNEES 609,600 639,000 A 29,400
Ostd RS AE XA 609,600
= 406,400
< 203,200
HH2IZH(Bs2A=1) 33,432 32,044 1,388
Jl23l 33,432 32,044 1,388
FA2Y JIE23H 33,432 32,044 1,388
201 Lt 23,676 21,484 2,192
01 At 22l 23,676 21,484 2,192
ORAN2Y ARt 23,676
202 04l 6,156 7,560 A 1,404
01 S LHOIYI 6,156 7,560 A 1,404
ORME2E =U0b 6,156
203 YR =&l 3,600 3,000 600
04 REN2ELRZ=TH| 3,600 3,000 600
©202! ol at 3,600
Heaes(239=21) 402,500 413,000 A 10,500
WEHHX = 402,500 413,000 A 10,500
ZEEH ZEQYEA AE 402,500 413,000 A 10,500
705 ==&l 34 402,500 413,000 A 10,500
03 Al - EXNYHEIIS0+===oE 350,000 350,000 0
O'108 LAEE LERYER A 350,000
04 Al - SXGHLI S0 =30l A& 52,500 63,000 210,500
©'108 LATY LEQIAER AHY 52,500






